

SIS

(An Autonomous Institution)
Coimbatore-641035.

UNIT-V LAPLACE TRANSFORMS

	100 81 Pan :-
	Defenetion:
	the laplace transform of a function flt) defend for $0 \le t < \infty$ to $\int_0^\infty e^{-2t} f(t) dt$ the pr
	denoted by 1 [flt].
	denoted by
	$[i.e]$ $[f(t)] = \int_{0}^{\infty} e^{-st} f(t) dt$
	formulas:
	$L[1] = 1/s$ $L[sAn at] = \frac{a}{s^2 + a^2}$
	$[[e^{at}] = \frac{1}{s-a} $ $[[cos at]] = \frac{3}{s^2+a^2}$
	$L[e^{-\alpha t}] = \frac{1}{3+\alpha}$ $L[t] = \frac{1}{s^2}$
200	Properties of Laplace transforms:
	Proposties of Euplate 18 and 10 vines P, L[eat fit)] = [L[f(t)]] s -> 5-a (s multiples with
	1) LLE +111 J = LLE 1 3 J 3 -> 5- a 15 multiples with a
	$ \hat{l} + f(t) = -\frac{d}{ds} + f(t) $
	[18 the function Ps multiplier with t]
	$L[t^2f(t)] = \frac{d^2}{ds^2} L[f(t)]$
	du²
	In general $[tnf(t)] = (-1)^n d^n L [f(t)]$
	dsn
	[96 the function to developple with t]
	Problems:
ſ.	bond the laplace transforms of e-at cos st
	una the laplace transforms of word
	The state of the s



35

(An Autonomous Institution)
Coimbatore-641035.

UNIT-V LAPLACE TRANSFORMS

T. 7
Soln: Leater of the property: Leater this [1 [11]] By the property: Leater this [1]
$= \left[L \left[\cos 34 \right] \right]_{S \to S+2}$
By the formula $L [\cos at] = \frac{s}{s^2 + a^2}$
$\therefore \left[1 \left[\cos 3t \right] \right]_{S \to S+2} = \left[\frac{S}{S^2 + 9} \right]_{S \to S+2}^{3/2}$
= 8+2
$(s+a)^2+9$
= 8+2
82+4+48+9
$= \frac{3+2}{8^2+40+13}$
2) find the laptace transform of
tsmal.
Soln: L[t sfnat]
By the property: $L[tflt] = -\frac{d}{ds}L[flt]$
ds [Isin at]
$= -\frac{d}{ds} \left[\frac{3}{s^2 + \mu} \right] \frac{u}{v} \qquad \text{l[sPnat]} = \frac{a}{s^2 + a^2}$
$= - \left[(\underline{S^2 + 4}) \cdot b - a \cdot (\underline{a}s) \right]$
(4+8)
= +45
$(S^2+4)^2$ "
3) find the laplace transform of 1-e-t



Coimbatore-641035.

UNIT-V LAPLACE TRANSFORMS

Soln:
$$1 \left[\frac{1-e^{-\frac{1}{4}}}{4} \right]$$
By the property:
$$1 \left[\frac{f(1)}{t} \right] = \int_{S}^{\infty} 1 \left[f(1) \right] ds$$

$$= \int_{S}^{\infty} 1 \left[1-e^{-\frac{1}{4}} \right] ds$$

$$= \int_{S}^{\infty} \left[\frac{1}{3} - \frac{1}{3+1} \right] ds$$

$$= \left[\log_{S} - \log_{S} (S+1) \right]_{S}^{\infty} = \left[\log_{S+1} \frac{S}{S+1} \right]_{S}^{\infty}$$

$$= \left[\log_{S} \frac{S}{S(1+1)/S} \right]_{S}^{\infty} = \left[\log_{S+1} \frac{1}{1+1/S} \right]_{S}^{\infty}$$

$$= \log_{S} 1 - \log_{S} \frac{1}{1+S}$$

$$= 0 - \log_{S} \left[\frac{S}{S+1} \right]$$

$$= \log_{S} \left(\frac{S+1}{S} \right)_{S}^{\infty}$$

$$= \log_{S} \left(\frac{S+1}{S$$



SIS

(An Autonomous Institution)
Coimbatore-641035.

UNIT-V LAPLACE TRANSFORMS

$$= \frac{s^2 + 4}{(s^2 + 4)^2}$$

$$= \frac{s^2 - 4}{(s^2 + 4)^2}$$

$$= \frac{s^2 - 4}{s^2 + 4}$$

$$= \frac{(s + 3)^2 - 4}{(s^2 + 4)^2}$$

$$= \frac{s^2 + 9 + 6s - 4}{(s^2 + 9 + 6s + 4)^2}$$

$$= \frac{s^2 + 6s + 5}{(s^2 + 6s + 13)^2}$$